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Q6: ASQL:EE & i — A Viewd Sam BIRIFFI B Loyt & R K

Q7: #ASQLIES fuA— % B T EH » ID=5, Name="# K F]’, Salary=38000,
Dno=5
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8. P EAB RATH 6012 1% 58(Candidate Key)
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(@) Set Conn = Server.CreateObject("ADODB.Connection")

(b)Conn.Open "Driver={MySQL}; Datebase= mydb; Server=140.‘115.135.100;

UID=john; PWD=johnpw"

(¢) Set RS = Conn.Execute(“select FName, LName from employee where

salary>50000")

(d) RS("FName")
(e) RS.EOF

(f) RS.Fields.Count
(g) RS(i).Name

(h) RS()

(1) RS.MovePrev
() RS.MoveFirst
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